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if the dislance belween the poinls Af1,1)

1.
and B(x, 1) 18 3 units, (hen values of x are
(4) 4,0 (B) —4,6
) 2.3 Oy 1,-9

A man when asked, how many hens and
buffaloes he has, lold that his animals have
120 eyes-and 180 1egs. How many hans he

2!

has 7
(A) 15 (B) BO
(C) 30 (D) None of these

The solution of system of equations
x+y=3—bﬂndﬁxﬂb}'=az+ b?are
{(B) x=a,y=-b
(D) x=—a,y=—h

3.

(A) x=ay=D0
(Gj x:—ﬂ.}":h

ana-government !auncl::ed
gl scheme for senior cltizens

helonging lo Below Poverty Line (BPL)

families.
(A) Bhagya Jyothi
(8) Anna Bhagya
(C) BetliPadhac
. (D) Tirtha Dasshana
6. Thesectionof Himalayas, speciallyattracted
to the British colonial administration, and
'subsequently, some of the imparant hill
stations such as Dharamshala, Mussoorie,
Shimla, Kausani and the cantonment
towns and health resoris such as Shimlg
M‘g"ﬁfoff' Kasauli, Almora,Lansdowne
and Rani A
raﬁinn?m elisic weor developed in this
Here The region referreq i
255er Himafay
Greater Himalayg

2.

LT,

urdfra A1, 1} 3 B(x, 1) % Wi 2h 5
¥, A7 xR ’
(A) 4.0

{Cy 2.3

S B T g I g,
ﬁtzuaﬁﬁahmnﬂtﬁam%m%-
affai § 7

(A) 15 (B) 60
() 30 (O) mﬂﬂﬁﬁ

X+y=a=b M axnby=a 4 p

(B) = 4,8
(@) 1,-8

(A) x=a,y=1p
(C) x=-a,y=b

(B} x=a,y==;
{D) K= - &, ya_-.:

o e e e S (B S
wake R £ dengsa,
() W i :
(B) 311 v

(C) =2t yerad

(D) e 2

femrerdt & o fafew avfae wmee

R Jrfa ga o aw, T & B

e st et gu
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LT
AR e T
ll A number conslsts of o dighs anil 7. USR03 1 ol l!-. Forees S i

¥ whose sum Is 3, it 91s added to \he A%, 4 30w 3'%:_;1 T, i
numbr, the Ggis getinlerchangec ST} R A 60 700 o8 i
hen the number |8 ! A W
I:)EH12 By 21 (A 12 B 24
) 30 (D) None of these (C) 30 (B) T7H & =7 37
8. ls an amphoteric oxide, | 8 T E-Wf-’m aﬂaﬂwg B
(A) ALO, (B) GuO (A) ALO, ‘2}. chn
©) Fe (D) CO (C) Fe,0, (D} €O,
- St | ]

g, WERI T A 1 Pt we vhe |

9. Read the loliowing statements regarding iy
Sahara deser. | g sh i e 2 ..
I 1tis sprawled over ning counires. i, =Ee e H{Uf rT7A ’35‘7:?{5}‘! oy
il |l area is more than two limes v B
|larger than whole India. . o R 2 —_—
3 [ gr from given x 5 3
.':‘r:;ecili;r;lnght RNSWET giv (A) 0
. y = :
(8) (i) only 5 , , Ul? 3
(C) Beth (i) and (i) are right © (AT Ed e
(D) None of the above (D) T A FIE
10. Bhagavad Geela Is In the 10, WEINWA F____ SIATI R a3
Chapter of Mahabharata, s (A) 163 @) 173
B) Seventeet : = £
(A) Sixteenth (B) Seve ©) 183 o) 19%

(C) Eighteenth (D) Nineteenth _
11. EW @ T gheg e A ST FE a9

11, Supreme Court of Indla in its recent _
historical judgement on Aadhaar Card oo 1 @A W, 9 Waaree S o, T8
Vs Privacy threal, it has b'aanl-hald that 2 B T T G'l’@-'n & T
linking Aadhaar Card mandatory, excepl N # 3w
1. Schogl admlssions 5 mﬁﬂl_ﬁmﬁ% .
2. For PAHAL Yojana
3. NEET, JEE, UGC and CBSE exams 3. NEET, JEE, UGC 3fit OBSE Ttem
4, Corporate aulhentication 4. W W
Select the right answer from given below : forferfias 1 & ot T ghi:
(A) 1and 3 only (A) e 1 33
(B) Sonly (B} Faw 3
(C) 1,2¥R3

(C) 1,2and 3
(D) 1,3and4 (D) 1,33M 4

«3e
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42, The Legistativa Assambly of Haryana

assed the Haryana Munlcipal
(Amendment) Bill on
(A) 7" August 2014
(8) 28" February 2017
(c) 18 Decambar 2015
(D) 31" March 2016

13, Select the correct palr from the following :
1. Salal hydrogtectric — Jammu and

project Kashmir
2 Paramblkulam - Tamil Nadu
resSenvoir
(A} 1only
(B} 2only

(C) Eoth1and 2
(D) None of the above

14. Rewari, Mahendragarh and Gurgaon are
~ richin
(A) Tin
(8) Dolomite
(C) Slate.
(D) Feldspar
15. Baking powder is a mixture of baking soda
and a mild edible acid such as
(A) Acelic acld
(B) Benzoic acid
(C) Hydrochlaric acid
(D) Tartaric acid

16, There are lakes in the slate of
Haryana.,
(A) 7 (B) 6
)5 D) 4

7. Find the missing !
given bilow, gietters (?) fromthe options:
?:C. DVF, GSI, JpL, 7

) MOM i

(©) NnO frgj} MO

Q MMO

Wy,

12, yfwon & fafi 026 3 pipgy, 2 I

13.

14.

15.

16.

e

(g Pt g -
(A) 7 STTE 2014 '
(B) 28 wTE 2017
(c) 19 fererare 2015

(D) 31 9T 2016

1, wee e - T
2. iifagerd A~ i
(A) el 1

(B) et 2

() 13fm 27

(D) e T B FIE AE

prAd |

(A) &

(B) Sremmnz

(C) =2

(D) HEgeEam

Sk T A e 1R wr e
1 U Thgors At et 8

(A) fafes ang

(B) IHIgH A

(C) TragIaIE J=

(D) 2Rl st

sfemrosgd__ wwidl

(A) 7 (B) 6

(©) 5 () 4

17, Frfifen Rea A o e (1) TR

Av_c,z DVE, GSI, JPL, ?
(A) MOM (B) NMO
(C) NNO (D) MMO
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18. Global Investors’ Summil look place.on

19I

20.

21.

22.

23.

(A) 26" January 2011

(B) 12" Decamber 2014

(C) & March 2018

(D) 107 April 2017

Which of the followlng fofm an AP ?

tA} 1' 1' 2I 2t 31 3; o
(B) 0.3,0.33,0.333, ..

111

LD} '\El '\'ri_ﬁl \'Ilé-é,__...
Find the missing number (7} in the

iollowihg sequence.

2,5 10,17, 7. 37

(A) 20 (8) 26
(C) 25 (D) 16

A ladéder 17 m long, reaches & window of

a building 15 m above tha ground. Whal is
the distance of the foot of the ladder fram

the wall 7
(A) Bcm
(C) 2cm
Manganese Is found In the
districl of Haryana,

(A) Hissar

(8) Mahendragarh

(C} Kamal

(D) Gurgaon

(B) 6cm
(0) 4cm

Which of the following Is not an example

for macro-geconomic constituents 7

(A) Making of Budget

(B) Regulation of Monetary Policy

(C) Policy for bringing change in
Balance of Payment (BOP)

(D) None of the'above

uﬁé

18,

19,

20.

21.

22.

23.

AI2018 (1Y (M1
Fera Firgr; fomare moviveny W "T L
i | —
(A) 28 Fal] 2611
(B) 12 fkerar 2014
(C) 8 A 2018
(D) 10 @ 2017
Frefafirm & @ w1 - T wam i
w8 7
(84, 1,223
(B) 0.3,0.33, 0.333. ..

1 1%

(C E.ZE.
(D) J4,16,4/38....
F—mrféﬁm@mﬁﬁgmm@{?}m?&
2.5, 10,17, 7, 37

(A) 20 (B} 28

(€) 25 (D) 16

w17 4. wft @), e H 15 1. =t
E'mﬁwﬁﬁﬂﬁﬂtmﬁﬁtﬁ
% e Al R g 2 7

(&) 8AHM. (8) B

(C) 28.H. (D) 47,
sk

(ay fam

(B) WEET®

(C) FATE

(D) TErtE

et it 3 g - ol e
TETET TR © 7

(A) =T FATI

(B) itz i # Fram

(C) vy T 3 wited 1 Hfifa

(D). 399 § § I8 TE
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a4, The first manl

written by ,
(A) Alal Haall Hussain (8) Amir [{1yesro

(C) Umrao Jan (D) Allabaksh

lesto of Urdu pootry VWils

II'EYE' can be coded as 35, then 'OFF can

25,
be caded as
(A) B0 (B) 11
(C) 27 (D) 36
o5, Banabhatla wrale
(A) Sur Sagar
(B) Bhagavad Geela
(C) Geetha Ramayan
() Harshacharita
27, If'#'means Y, '’ Mmeans ' =' means '+’
| and'+'meansf-—'.1hen1Ex2+4+?—-3=
29
(Ay 31 (B) =
.z (D) Noneol these
© 7 _
28. Which of the following rivers (s nota right
" pank ributary of Ganga fiver ’?
(A) Chambal (B) Son
{C) Sindhu (D) Kosi

28, Which of the following rightly stands for the:

word ‘Ethics' ? ,
(&) Moral principles that influence a
person's behaviour

) Goncarned with the principles of

fight and wrong behaviour
{C) The way In which one acts or
conducts oneself, especially lowards
olhers | |
(@) Althe above

30. Two coins are tossed sim '
INS &re los; ullaneously, The
probability of getting exaoi on AL
G 3 elin ; }_y & head j5

oK% oy

24,

25.

26.

27.

28.

29.

30,

T TRy
¥ sper 71 1] T =ty

gy feren AT
(A) HETIE el G (8) W‘Rifq;_,ﬁ

afz ‘EYE F1F2 35 2, @l 'OFF %)

iy

. @ (B) 11
Ay 80 §

{{c; 27 D) 36
'EﬂUT"T.}:#.____——-— GLEll
(A) FLET

(B) W

(c) ita T

(D) T

s o 31 o, e 2T T T
srcm g -, E, M 16x2+44+7-8s

(A) 31 (B) 5’2?,

() 5; (D) ¥ AL
fraferftan 3 @ F - 7l SH R
Forersy TR T o T T AR § 7

(A) = (B) ®r

) fag (D)
Freaferfiam 5 9 farerenn e arel e 47

(A e fagia & v =2l & SaEmE

(B) WE S e SRR  firgidl @

() o aler ot g ordve 5w & 80 4
AR FE 9 En AR

(0). 35 At

3 R 1 0 e e e 1 e

ot Fg:gww%lm

(A 1 B) 0

@ 1 ® ¥
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g7, Probono, Which Wwa COME acrost in faw
arder debate and news, It rofoss (o
(Al Logal service on frae of cost
(B) On its own mollen
(&) Faesling of having already lived
theough
(D) Animpartial adviser to & court of law
in & panicular case

and

'38, The festival of Lord Rama conquenng
Ravan is called &s
(A) Fongal
(C) Baisakhi

(8) Bishu
(D} Dussehra

39. Bhagavad Geeta has diglogues belween
Lord Krishna and
(A} Karna
{C) Nakula

(B) Surya
(D) Aruna

40, The type of mirror used &s shaving
mirrors is
(4) Convex mirror
(B) Concave mirror
(C} Cylindrical mirrer
(D) Plano - convex mIfror
Which of the following diseases is caused
by Salmonella bacteria 7
(A} Cholera
(B) J_apanaéa'eneephalitls
(C) Typhold
(D) Hepatils
42, The festival of lighls Is
(A) Ganesh Chaturthi
(B} Diwall
(C) Dussehra
(D) Baisakhi

a1.

43. The equations X + 3y = 5 and 2x = by = 10
represent the same'[lne, b = '
(A) & (8 -5
C) -6 (D) None of thege

Q

37, Ul A1, farel wel URCE IR 1) oz,
= & L1 o

38.

39.

‘401

41,

42,

43.

LT

L
i~ farear ;:aﬁf HOTEI 3 Y ,':
D B
(hy Frcgren fafas s
(&) s o afarEb g
() e HEE W R R A g g
(D) e Fardr sl ST w5 g
HEATEE T

s 27 ) e v e w5
e ¢

pEEE e
e aratam 2
(A)

(C) T

(A} ST

(B) wFae <

(C) TR T4

(D) TEwaE 2T

Fiifirfiar & & =i - T Ao Heen A
g e ?

(A) BT

(B) TIHI HITTH T

(C) TEHIES

(D) TFW Y

STERTS] 1 FATER B

() i gl

(B) e

(C) =

(D) =rel

TR X + By =5 3R 2x — by = 10 @A

Y A iR b =
‘(A) 6

(B) -5

() -6 (D) ¥ & g 7l

Downloaded from 'ﬁiww.cclchapter.com'



!tlﬂl'l‘-!ﬂﬂfﬂl‘illllﬁilfﬁlllllfﬂlﬂ il

44, Which of 1he following cells have

haemoglobin In it 7
(a) White Blood Cells

(8) Red Blood Calls

(C) Platelels
(D) Nong of the above
45, Fishes have _*_numherafchambers
In their heait.
(A) Many (B) 4
(C} 2 (D) 3

The crops which are sown at the
commencament of rains in June and
harvesled by November month,are
called as

(A) Baisakhi
(C) Kharif
Consider the following statements with
referenca to the evolution of polllical pary
system in India and choose the incorec!

aption.
{A) The fourth union general election ’

lad to the beginning of the politics ©

coalition.
(B} During 1960s, the emergence of the

new polltical classes was directly
related to the rise of the proprietary
peasant class in rural Indla In the
- backdrop of the land reforms.

(C) The polltics of alllance has led to the

polarisation of parties.
(D) Atpresentcoalltion or alllance form of
arties have narrowed the process

gr glections and compelitive political
space.
48. Find the word which s different from the
other 3 options given below.
(A) Tiger (B) Lion
(C) Cat (D) Zebra

48, Age of a father is 3 times that of his son.
5 yearslater, he will be two and half times as
old as his son. How old is his son now ?

(2} 15 years (8) 10 years
(C) 12% years (D) None of these

46.

(B) Bill
(D) Summer

a7.

a4,

45,

46.

47.

48.

49.

Prenfian # 3 .4!2013(1}(1“11)
il P8 Wit & sy
(A) 220 s i

(B) 111 oy apfrang

(C) ety ‘

(D) T8 3 @t wrd =1
wﬁaﬁ_%mﬁgﬁﬂ_-miﬁ!ﬁl
(A) 3 (8) 4

) 2 () 3

T e w1 5 6 25 i 3 e A
A © ot s e | e s B, A
i
(A) e

(C) Tl
1t 3 et 9 woell 3 wd  we |
Freffiae oAl 7 foram Hifee offt o
e g
() =i Hf s g Ay et TeE
o1 et 1 Eena W Ed |
(B) 1960 2T 7T, TEAGeIe: 1 o I o1
mw@'!@gﬂn%@mﬁﬁm
T W TR TEw 3 % 4 |
(© gﬂ%ﬁﬁmﬁﬁiiqﬁmﬁm

!
(D) AdAT H e o fim gsdi 3

(@) P
(D) dET

wfeesfore Terfoes T ot g
=1 sfsren =) wpfer R fan R
ot fereedi @ firs &
i W (B) T
(C) fereett (D) S
T T = g 3 g ey 3
5 s 7 mgg:?m?;%% - Tg;i’
0T 31 S | G5 3 ST S A8 1
(A) “15 7 (8) 1079
(C) 12 &4 (D) T A HL
Q
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sg, Backhal lako |s oeated In

(A Foddabad  (B) Thanashwar
(C) Kaimal (D) Hathy|

51, Wdis8 20 qﬁpo‘lynumgm
RiX) = —2x" + 3x + 5k then value of i i
(A} 4 {B) <5
© 2% ©) -1

52, Hiuen Tsang isa —_ lraveller,

{A) English (8) Roman

(C) Chinese (D) Portuguese
53, —_— I8 &ssentig for the

synthesis of thyroxin,

(A) Potassium (B} Sotium

(C) Calcium D) loding.

54. Sahibi river ig also callad as
{A) Drishadwati
(C) Cauver

(B) Kumudwali
(D) Jagadadri

35, In computers ‘CMOS’ stands far

(&) Computer monitoring operating
system

(B) ‘Complementary Metal Oxide
Semiconductor

(C}) Complementary Metal Operaling
Semiconductor

(D) Commcnly maintaining Operating
System

S8, Which of the following movements is known
as Leaderless Movement/Protest 7 |
(&) Simon Go Back Protest:
(B} Individug] Sathyagraha
(C) Quit India Movemen(
(D) - Swadesh Mevement

50,

&1,

52,

53.

54,

58,

56,

TR e

sl e 1£ﬁ }
(A} fterare 1) gy,
(C) 13 (C3) r‘:ﬁ-_ﬁ

R T i = 252 4

4% TrFUE R B

(A) 4 (B) -5
(€) 8 @) =1
WEMEE Ay

(A =R (B) Troy
(C) =i (D) e

it 3 werr % feo
—— T

(A r2fivm (B) wifem

(©) e (D) Ty
(A) et (B) Tz
(C) F&Eh (D) A
Ei?ciaﬁ'cmos‘amm%

(A) T wifin gt famy

B) Wﬁzﬁﬁmmﬁﬁqm '-
) Wﬁaﬂﬂz—aﬁwﬁnﬂtﬁw
(D) TweTeft Hefim ariodfn fiem

P 3 2-an s Sy
STt /ey o 2

(A) 133 T o7 faty

(B) R v

(C) "ITa BT wigray

(D) =t aridier
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57.

58.

88,

60.

1.

62,

63.

64.

It Stind = 4, than vilua ol

580 A - 08 0CA

‘-'fsema' cosech -
' 2

(A} ‘:;; 8y 7
NE]

1 1))

i1 1452 + 13% = 15 Is divided by 7x— 4, the

remaincler is
() 3 (8) =3
(D) None ol these

(C) 0

Sepoy mutiny look place in

(A) 1947 (B) 1957
(C) 1837 (D) 1857

Five resistors 243, 762, 401, 5602 and G¢) ar€
connected in series 1o 8V ballery. The
current through 5(1 resistor is

(A) 333A (B) 0.3A

(€) 1.2A (o) 120 A

If 9 of September was Sunday, when does
18° Seplember fall 7
(A) Monday

(C) Tuesday

(B) Sunday
(D) Wednesday

s the head of Gram

Panchayath.
(A) Chief Minister

(C) Sarpanch

(B) Commissianer
(D) Labour Officer

Haryana sends members to
Rajya Sabha, the upper house of the
Parliament.

(A) 2 (B) 3

(C) 4 (D) 5

If the perimeter of a semicireular
protractor is 108 cm, then the diameter of
the protractor is
(A) 54 cm

(C) 24 cm

(B) 42¢m
(D). 108 cm

A0y (1) (411

E_"{ sz* '3'Iztrs.ra, {5 i f*'!fﬁ u,mrn‘h

58.

59.

SOI

61.

62.

63.

64.

EUCh « mrmnl.

LAETER
(Al 7 (5 ;"
-
© . B
j? oy = "y

T 14w 4 108 = 15 W T = gﬂﬂ‘gmﬁl‘f

Fﬁ” m'lﬂ!? Iﬂ 5‘["-1 ?

{A) 3 8y -3

(C) O () % B s i
Fiamift Fordim 1 7|

(A} 1947 (By 1957

(C) 1837 (D) 1857

g iR 202, 302, 40, 50 317 6O 6V
it e ojaen 1 s &1 5Q TR

A forp um 2 |

(A) 3.33A (B) 0.34

{C) 1.2A (D) 120A

gﬁsfﬁﬁmﬁ foam ®, @ 18 g =
¢

(A) HIHER (B) mEw

(C) eI (D) FHET

T T R

(A) FEIwH] (B) TR

(C) W= (D) 79 #ferwr

gfaon ___ dodi v e I

WEH, T=IE9] o 2|

(A) 2 (B) 3

(C) 4 (D) 5

7fe v sreereen =1y frafify 108 3.4, 2,

1 =TS 1 =4 &

(A) 54 @4, (B) 42 ..

(C) 24 F.A. (D) 108 &AL
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P uian Langusce

0058 the correct oplians .

ghe reminded

(A where | had to leave
(8) me where will | leave
(¢) where lo leave

() me where | had 10 leave

the .
o papers

0., 1@M not tired enough to go to bed yel.
| wouldn't sleep If | ______ lo bed now.

(A) had gone
(B) gone
(Cy would have gone
(D) went
il in the blainks with appropriate articles if
(ecessary i
71. | don't walch television very
often.
(A) a
(8) the
(C) not needed
(D) an
72. Whols best player in your
team ?
(A) the
(B) an
(C) notneeded
D) a

Fill in the blanks wilh appropriate preposilions .

73. She lives in Perth. She owns a house
the Swan River.

(A) al
{B) on
(C) -over
(D) in

74, 41208 (1) 1)

— Gl | ri
I . Sy b Bl ‘H'fﬂﬁﬁ'ﬁ’
Gotball ane baskathal, - =

(A) Excopt tar
(B) Beaides
(C) Beslda
(D) Except

Choose e correst form of the yaros ;

76, |
more,

television a lotbut | den'tany

(A) used to walch

(B) was watching

(C) watched

(D) was used to watch

76. a long time tor the bus.

(A) We mustlo walt
(B) Always we have 'o wail
(C) We have o wail always
(D) We always have 10 wait
Select the appropriate synonyms of tne
underlined words -
77. The Article exculpated the mayor.
(A) steal
(B} pity
(C) acquit
(D) destroy

78. The car salesman tried to beguiled an offe
of free gas for a year.
(A) wary
(B) mislead
(©) belitie
(D) sirange

A Q
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iy sl
7o, W T T ynE W B, Al
WA W AT w7
(A) (B) =T
(C) TEFg
80. TV TH T wuref} vy &
(A) v (8) iy
(C) fy (D) ¥irE
Ly
81. ‘ww mm‘rzrga-eqm%
(C) wefiy '

|.um|r:uumnmnm,h‘|

an, e B

(1) (sm)
1, sy #) 75
2 yEEE Hl) 27
3. Hidh 3 92
4. =T ) a7
A 1-%  2-% 8-9 ,_
B) 1-3m 2-w 3.4 , 3
C) 1-% 2.3 3-3 ¢‘?.
© 1= 2.y g_4 4::
6. ‘m‘m%mqaﬁammﬁaﬁimﬁ*
(A) g (B) fa |
(C) il D) 3
B7. ‘& : Biko
%ﬁ&:;qmlﬁ ST 7Y 1 T ey i

(A) SUEH WRTE ) 7y

e mwﬁfﬁﬁf'ﬁ‘iﬁ?'%ﬁw

(A) wgfife (8) f
() g (D) Tegefurg

89, e 3 ) ) o e i
(A) et (8) wehy |
(C) gt (D) e

90, ﬁnﬁrﬁaaﬁﬁfnm‘mwfﬁara%m
LR .
(A) T (B) 3y
C) | (D) wrfter a
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